AU N—RBHE [ha—x]

BRME A 1 “Fn 6EILALTH (R) NFEH Y=o FT7
B #AU T HA ZMAE 78N (B 68N - ik 10A)
HDCP_L[R : 36 FTH 0 T3 : b U ZRE—  (PAR+3)
BELEr—r: & 200668 B O2@0®0 a/n
FUMAGCRE :  Fl EWVIE) - 35T ChEWIE) FIRI : &% 64E1LALTA (A)
AT ZNE 4 G i3] GROSS | HDCP | NET 5 [efiva BINES e i) GROSS | HDCP | NET %
=H M 38 37 75 3.6/ T71.4/BG 41 L | 1% FHE 47 51 98 21.6; 76.4
frrf ECRE 48 45 93| 21.6] T71.4 42 {7 |9 M ¥E 46 52 98| 21.6 76.4
7| BEYE A 45 38 83| 10.8] 72.2 43 i | FTE %M 45 46 91| 14.4] 76.6
& KB Fia 41 42 83| 10.8] 72.2 44 i | = H5H 42 43 85 8.4 76.6
R ILEIN 20 | 43 83| 10.8] 72.2 A5 fip| T A 45 | 46 91| 14.4| 76.6
(6 i bHF EE 38 38 76| 3.6| 72.4 46 fif | Bt £ 48 48 96| 19.2! 76.8
SRR 43 45 88| 15.6] 72.4 A7 L | BEF 48 54 102| 25.21 76.8
8 prd il FEA 41 40 81 8.4 72.6 48 {ir | TiE FEHE 43 40 83] 6.0, 77.0
Co fir)Z=R fmm 43 43 86| 13.2| 72.8 49 ir | KR &E 42 47 89, 12.01 77.0
Tti".gz_; HH EE 45 46 91} 18.0| 73.0 50_{0| K FlAT 42 47 89| 12.0! 77.0
11 i |2 K PEIT 42 42 84| 10.8| 73.2 51 {if | THE 2| 41 41 82 4.8] 71.2
12 fif [BTH BE 48 47 95| 21.6| 73.4 52 i | &t 4675 44 50 94| 16.8] 77.2
13 fif )1l Foik 45 42 871 13.2]| 73.8 53 Ll EHE BT 42 52 94| 16.8| 77.2
14 fir | ¥ABH 3L 46 41 87/ 13.2| 73.8 54 {if | KiR H— 49 45 94| 16.8| 77.2
@G (D FiM B 40 41 81| 7.2 73.8 55 fin | /v Bl 50 50 100{ 22.8| 77.2
16 i |12 A Fokf 43 43 86 12.0] 74.0 56 fir | 45 Bk 45 48 93| 15.6] 77.4
17 {f | L ®F 46 45 91| 16.8] 74.2 57 fir | T3 ®E 52 46 98| 20.4| 77.6
18 fif |5FH HHE 38 41 79 4.8 74.2 58 {if | /NEE — ik 54 49 103] 25.2] 77.8
19 fif | fy B2— 43 47 90| 15.6]| 74.4 59 {ir | i HF 43 48 91| 13.2] 77.8
20 {0 M4 Wi 41 43 84| 9.6] 74.4 60 7| /MR B 52 56 108] 30.0| 78.0
21 i | ik fE 38 46 84! 9.6] 74.4 61 {ir | HAT 3% 19 45 94| 15.6] 78.4
22 {7 |\ 0B 42 42 84 9.6 74.4 62 {i7 | FHHE 45 48 93| 14.4] 78.6
23 L | HER 49 46 95{ 20.4] 74.6 63 fif | o 1ERE 51 48 99| 20.4| 78.6
24 {7 | 49 EET 46 43 89| 14.4, 74.6 64 i | £~ A BT 47 45 92| 13.2] 78.8
5 fry i EiE 43 46 89| 14.4] 74.6 f65_{ir| #AJ1] 3k 50 48 98, 19.2| 78.8
26 {7 |#E A% 43 40 83 .4] T74.6 66 {i | iR B 53 50 103) 24.0] 79.0
27 fif 1)l E— 42 40 82 7.21 T74.8 67 4 | Wi i 44 40 84 4.8] 79.2
28 i | /NECIEE 5L 41 41 82 7.2| 74.8 68 fiL| i & 47 46 93/ 13.2| 79.8
29 {if | Ak EF 39 43 82 7.2 74.8 69 {if | fEx A Bk 48 56 104} 24.0] 80.0
q_qj@ I\l e 48 51 99| 24,0 75.0 G0 fnl wir wz 48 49 97| 16.8] 80.2
31 Qi | A 18— 45 42 87| 12.0| 75.0 71 | e A ST 16 48 94| 13.2{ 80.8
32 fir |#EL BI— 46 47 93| 18.0| 75.0 72 fir | iR E T 48 57 105| 24.00 81.0
33 fir | ds B =8R 38 42 80 4.8| 75.2 73 L | F 48 45 93| 12.0f 81.0
34 fir | KAMR HlhE 43 43 86| 10.8| 75.2 74 L1 BN WA 48 55 103| 21.6! 81.4
(85 5| BtE ekt 43 | 43 86| 10.8] 75.2 (75 fn | #rgE alh 54 | 53 107| 25.2| 81.8
36 i | 1789 E— 40 45 85 9.6| 75.4 76 i | fEx A KK 56 48 104 21.6] 82.4
37 {ir | A4 Bfn 42 48 90| 14.4] 75.6 77 fL | KF 3R 56 52 108 24.0] 84.0
38 fif |50 Hi 44 45 89| 13.2] 75.8 78 | HAE BA 49 49 98| 13.2| 84.8
39 {iL | #ATH B 43 45 88| 12.0| 76.0
Q0 | My 19 | 44 93| 16.8] 76.2




AUN—EHER [fEa— =]

Bf A A 4 64E11H1TH (") NEH b= T
BRI HA) T HA BiMAL TN (Bt :67A - & 12A)
HDCP_E R - 36 RSN IR IR o b U ZFIEEFE— (PAR+3)
BLE—/: 1 Q@00 m @00H®® (1/1
FMECIRE :  Fim@EVIE) - BHEAVT b EVWE) FOR : 58 62£11A1TR (H)
B | BWEL i} il GROSS | HDCP | NET % JEAE SNE4A jii] B GROSS | HDCP | NET %
E B EE e 42 43 85| 15.6| 69.4 41 {7 | B8 3Lk 46 45 911 15.6| 175.4
g B EUGE 38 41 79 8.4 70.6 42 {if | T3 # 42 43 85 9.6| 75.4
7| FiR B— 45 45 90 19.2| 70.8 43 L |18 =5 43 42 85 9.6| 75.4
oY 90 | 4 81] 9.6] 71.4 44 fir | FIE BT 39 | 40 9] 3.6 75.4
%5¥t EA #%Z 2 | a2 84| 12.0] 72.0 | @o)hr |9 46 | 39 85| 9.6 75.4
6MI|A% ER 40 42 82 9.6{ 72.4 46 L | P [EHE 40 41 81 4.8| 76.2
(7 |/ sLF 47 | a1 88| 15.6] 72.4 47 i |FEM R 50 | 42 92| 15.6] 76.4
8T | WFPY E 45 48 93| 20.4] 72.6 48 fir | B EF 45 41 86| 9.6{ 76.4
(o) || nwx 35 40 75|  2.4| 72.6 49 fr [E+ BB 46 51 97| 20.4| 76.6
(100 | Pt e 49 | 50 99| 26.4| 72.6 Go) i | itk —En 0 | 39 79] 2.4 76.6
11 fif |98 ¥ 42 44 86| 13.2] 72.8 51 {7 |/ F& 49 48 97| 20.4] 76.6
12 i | Bk s 40 45 85| 12.0] 73.0 52 {if | BEE EX 40 45 85 8.4 76.6
13 fif |#A ff 39 39 78 4.8] 73.2 53 L | KB @& 45 45 90| 13.2| 76.8
14 {if | B4 B4 39 37 76 2.4] 73.6 54 {if [RA ¥ 49 47 96| 19.2| 76.8
(19 i | e fB 42 45 87| 13.2| 173.8 (s5)fir |48 L3I F 50 46 96| 19.2| 76.8
16 i | At #4 42 45 87| 13.2| 73.8 56 {if | TAE 48 48 96| 19.2] 76.8
17 i 3R fli— 41 46 87| 13.2| 173.8 57 {if |kRM HE 45 44 89| 12.0] 77.0
18 i | BFiR 13T 48 44 92| 18.0| 74.0 58 {if | FFiR oz 50 45 95| 18.0| 77.0
19 fir | B 5% 46 40 86| 12.0| 74.0 59 {if | BIHHE &E 44 51 95| 18.0| T77.0
ROy fir | K 41 39 80] 6.0] 740 BT 44 | a4 88| 10.8] 77.2
21 fif | AR EHE 44 42 86| 12.0| 74.0 61 fir [fEx A %= 43 45 88| 10.8| 77.2
22 | B = 41 38 79 4,.8] 74.2 62 {if | EW i 48 55 103} 25.2| 77.8
23 fir | KB AR 41 44 85| 10.8| 74.2 63 fir | B fA 43 48 91| 13.2| 77.8
24 L | FBAT B 44 41 85| 10.8| 74.2 64 I |FHE ¥ 43 48 91| 13.2] 77.8
25 7 |/ Bl 41 38 79|  4.8] 74.2 1650 | WF 5% 48 48 96| 18.0{ 78.0
26 fir | Ak ELAR 43 42 85| 10.8| 74.2 66 if | K7 & 44 46 90| 12.0{ 78.0
27 fi |Faly 3B 42 43 85| 10.8| 74.2 67 if | I8 ik 57 49 106 27.6] 78.4
28 i | BJ1l SR 46 50 96| 21.6| T74.4 68 i | B fil 47 46 93| 14.4| 78.6
29 fif | KB JRF 43 41 84 9.6| 74.4 69 fif | B Hith 43 50 93| 14.4| 78.6
TS 40 | 38 78] 3.6] 74.4 100 | B 54 50 | 54 104] 25.2] 78.8
31 fr | Tik = 45 39 84| 9.6] 74.4 71 | A EE 47 56 103] 24.0] 79.0
32 i | FEHE 15T 44 45 89| 14.4| 74.6 PRVAR E 42 55 97| 18.0| 79.0
33 fiZ|MAEE =5 42 45 87 12.0| 75.0 73 fir | A FA 44 52 96| 16.8| 79.2
MALIEM AT 44 43 871 12.0| 75.0 T4 L | R4S HLEE 50 51 101} 21.6] 79.4
(o7 |EA T2 41 40 81| 6.0] 75.0 TS ML | R TRk 48 | 48 96| 15.6] 80.4
36 fir | LI faE 49 44 93| 18.0] 75.0 76 fir | bl FuET 51 53 104| 22.8{ 81.2
37 L | ATAT B — 45 41 86| 10.8| 75.2 77 fr | gE ET 55 49 104| 22.8{ 81.2
38 | TH EF 49 49 98| =22.8| 75.2 78 {iL | e~ A fEKER 54 47 101 19.2| 81.8
39 i | iR MRS 38 42 80 4.8| 75.2 79 {ir | I Bk 59 43 102| 18.0| 84.0
A 47 | 1 91| 15.6| 75.4




FA{# A

AUN—RHE [fa—x]

; 4 65ELLALTH (A) NPV V25T
B U 7R SN : T2h (Bt 61A - &M 11LA)
HDCP [} : 36 FHO0$T# b U ZARF—  (PAR+3)
BLA—A: @M OA@OAO® % 0ORDE®O a/n
FENEALRTE ©  Fin (@VIE) - 38T U EWIE) FORI . 50 64E11H17TR (R)
NEfE BINES A A GROSS | HDCP | NET it JEfL BNE4 ] th GROSS | HDCP [ NET =
& 5 AHT 15 42 40 82| 12.0| 70.0 41 {7 | KT Bhis 50 43 93| 16.8! 76.2
(S BT % 42 42 84| 13.2| 70.8 42 fif |FH &T 47 46 93| 16.8| 76.2
3T | MOEE FE 41 39 80 8.4 71.6 43 L |'E% 18 42 45 87| 10.8] 76.2
Calir |19m HBE 39 41 80| 8.4| 1716 44 i |18 R 48 44 92| 15.6| 76.4
(o0 | Et B 43 42 85| 13.2] 71.8 450 | B R 52 52 104| 27.6| 76.4
A= 47 38 85| 13.2| 71.8 46 {7 | B %= 49 43 92| 15.6| 76.4
{747 |5FE & 48 49 97| 25.2| T71.8 47 fif | KA & 43 37 80 3.6| 76.4
{8 /N 41 44 85| 13.2] 71.8 48 I | /1NBFE K 44 4] 85| 8.4| 76.6
{947 | RIIR & 45 45 90| 18.0| 72.0 49 {7 | B Fi 47 43 90| 13.2| 76.8
{10/ |#EEm F# 43 41 84| 12.0| 72.0 50 fir | 4T Fal 47 48 95| 18.0] 77.0
11 i |AifH P 42 4] 83| 10.8| 72.2 51 fi | Pt FEH 51 43 94| 16.8] 77.2
12 i |BEE % 39 38 77 4,8 72.2 52 {if | A FnA 52 53 105 27.6| 77.4
13 {if | % KT 39 42 81 8.4| 72.6 53 | A BB— 44 42 86 8.4 77.6
14 {if | /A FFidt 37 38 75 2.4 72.6 54 {if | B &%) 57 52 109 31.2| 77.8
715 fiz | B 196 49 44 93! 20.4| 72.6 {55 fir | @ = 52 51 103 25.2| 77.8
16 {if | T3 EH#E 43 46 89| 15.6| 73.4 56 {if | 6K BiE 57 46 103| 25.2] 77.8
17 {7 | RE E&E 43 34 77 3.6 73.4 57 fif | &N FE#t 47 44 91| 13.2| 7.8
18 {if | =i =Efg 45 49 941 20.4| 73.6 58 fiL | Fra B 44 46 90| 12.0| 78.0
19 {if | L2 5L4E 39 49 88| 14.4| 73.6 59 {if | A4 Bk 43 46 89| 10.8| 78.2
20 47 |IRA B 44 44 88| 14.4| 73.6 60 i | KE Ef 47 47 94| 15.6| 78.4
21 fir | £ E H 44 50 94| 20.4| 73.6 61 fir | 4M EfETF 52 48 100] 21.6| 78.4
22 i | KPE Bl 41 41 82 8.4! 73.6 62 i | Nk 15 46 47 93| 14.4| 78.6
23 L | AR IR 39 42 81 T.2F 738 63 i | EBM Hi 50 49 99| 20.4| 78.6
24 fir|it BF 4] 39 80 6.0/ 74.0 64 i | B4 BHHE 40 46 86 7.2] 78.8
25 i | TERE LR 50 41 91| 16.8| 74.2 65 i |BF 2 O FH 48 48 96| 16.8| 79.2
26 {if | Z[H %58 43 42 85 10.8| 74.2 66 fir | /MR SeFE 47 48 95| 15.6] 79.4
27 fL | SN AT 47 43 90| 15.6| 74.4 67 {if | Fgk NigE 54 46 1000 20.4| 79.6
28 fif |+ Bl 50 46 96| 21.6| 74.4 68 fif | 1B & 53 53 106/ 25.2| 80.8
29 fir | Tk Wfzs 48 41 89| 14.4| 74.6 69 {ir | #1L FHR 45 43 88 7.2] 80.8
( 30/4L | hFt 7] 45 43 88| 13.2| 74.8 0| =i # 57 50 107} 22.8] 84.2
31 fif [ 5@ —Al 46 41 87 12.0| 75.0 71 4 | B4 3k 58 55 113| 28.8] 84.2
32 {if |5FH Ih 51 48 99| 24.0| 75.0 72 fL| KRR EF 51 47 98 9.6/ 88.4
33 i |FE Sl 45 47 92| 16.8] 75.2
34 fr | MRy Eig4 41 39 80 4.8] 75.2
{35 r | #eiE 15+ 44 41 85| 9.6] 75.4
36 fir | Hdt £ 46 44 90| 14.4| 75.6
37 fr {BEE BT 43 48 90| 14.41 75.6
38 {if | AT B 46 43 89| 13.2| 75.8
39 i | RIE 1EN 52 42 94| 18.0! 76.0
{40/ | BiG 12 41 41 82| 6.0] 76.0




